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INSTRUCTIONS
1. 60 questions out of which 50 questions are to be attempled.
2. All questions carry equal marks,
3. Only one answer is to be given for each question.
4. If more than one answers are marked, it would be treated as Wrong answer.
5. Each question has four alternative responses marked serially as 1, 2, 3, 4. You have to darken the
cotvect answer.
6. There will be no negative marking for wrong answer. ) )
7. The candidate should ensure that Roll Number, Subject Code ard Series Code on the Question

Paper Booklet and Answer Sheet must be same after opening the envelopes. In case they are
different, a candidate must obtain anather Question Paper of the same series. Candidate himseif
shall be respensitle for ensuring this.

8. Mobils Phone or any other electronic gadget in the examination hall is strictly prohibited. A candidate

9. The candidate will be allowed to carry the carbon print-out of OMR Response Sheet with them dn

10. if there iIs any sort of ambiguity/mistake either of printing or factual nature then out of Hindi
and English Version of the question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unautherised material is found in hisfher possession,

FLR. would be lodged against himvher in the Police Station and helshe would liable fo be prosecuted

under Section 3 of the R PE. (Prevention of Unfairmeans) Act, 1992. Commission may also debar hisy

Rer permanently from all future examinations of the Commission,
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1 ."‘Whlch of the following is the main objective of teachmg ? -
(1) Providing mformatlon related to the syllabus |

(2) Dictating notes to students |

(3) Developing thinking power of the students

@ Preparmg students f01 the examination
ﬁn:r LR e e o o ok ¥ 7 |
: (1) TEawA W Hafaa YNG4 |

@2) oEl @ Rt e

) wEl a‘o’r fom st @ f‘q'm BT

@ ®El & ude % R R we

2 You choose teaching job for your career because :

(1) Teaching job is ;espectal;le and c.:hallengin.g'.. o
(2) Teaching job has less .res.ponsibi]ity |

(3) Teaching job needs less labour

(4 Teaching job gives more free time

o e ¥y e s g A ¥ i
(1) ﬁmwmqﬁ?ﬁ‘cﬁ{ﬁ% |
2) T =mEw w9 Soafg 9w €

@) fawr zem ¥ @ wfom wen gsa @

@ ﬁrwwﬁmfﬁmwﬁwﬁaﬁ%

SO/ 2 AR coi..
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3 Which of the following characteristics ; 18 not necessary for effective
teaching ? '

(1) Knowledge of subject matter
(2)  Confidence of Teacher
(3) Good knowledge of all subjects

(4) Knowledge of class management and teaching methods

WﬂTm%%qﬁﬂﬁﬂf@aﬁﬁWﬁnhmmawﬁ% ?
1) Fvrrg & swery

@) T @ sy

@ B @ o o

@) FO-%9 TEEMT Td R Ry B AR

4  Teaching aids help the teacher to :
(1) Make teaching interesting
(2) Adorn lessons
(3) Enhance his reputation

(4) Pass the time
mwmﬁrwa?rmmaﬂ‘cﬁ%:
(D e ohe wm ¥

@ e B w ¥

@) w=F W v o

@) v =g Wy A
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5  Which alternative does not :represent the function of a
teacher ? '

(1) Facilitating learning

(2) Managing instructional resources

(3) Coordinating curricular activities

(4) Entertaining students |

s e e % @k @ T eet 7
(1) ofrm g S

(2) aﬂ%sﬁm FueEl B Y

(3) drcahemal @& T

(4) BEl B TS B

6 Team teaching involves all the following except :
| (1) Master teacher
@) Group of teachers
(3) Inflexibility of method
(4) Group planning
e o wh Pt et 2R, e
(1) =& s
2) T @
@) @3 firwr Y

(4) uge FEeE

b
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7  The search for knowledge is done in :
(1) Library
(2) Field
(3) Laboratory |

(4) All the above
T W G B ol E
1) g o

Q) wrRiEE A
(3 wEmamEn ﬁ

(4) wrdw @ o

8  Which of the following is the main Objective of Research ?
(1) Collecting information
(2) Evaluating the findings
(3) Generating new principles and theories
(4) Synthesizing the ideas given by others
Fe & @ @e orquiam & qer wivw ¥ 7
1) o UHH W
@) Trepul w1 gt
3) 7 el qm Regial @ gl
@) T ) A W ReRt ® dwewy
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9 . Randomisation is a device which helps to eliminate :
(1) Human bias
(2) Dependence on observation
(3) Extraneous variable influence
(4 Long term trend | |
@) e v
@ veer FelRa
@) aww =i w1 TN

(4) dEFHRIAT o

(1) Experimental method

(2) Case study method

(3) Survey method

(4) Supervised study method
mﬁﬁwwﬁaﬁwmwﬁr&x%:

(1) warmee faf

@) wfr s fafy
(@) wdgw T

(@) wagm o fafy
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11 A project is especially different from theoretical research in:*

(1) Writing format

(2) Data collection

(3) Applicability of findings |

(4) Methodology

TH g dSifow agEue 4 Ry oY R ¥

(1) waT gy J

@) ofwd wrdeRT ¥

@) Preadl @ e §
@ aggue Rfy

12 The research method used in Census in 2010 by Government

‘of India was :
(1) Case study method
(2) Survey method

| (3) Experimental method

(4) Developmental method

Wmmzoloﬁmﬁmmaﬁﬁrﬂlm

W O

(1) =fm aermw fufy
@) wdaw fafy

(3) wErEs
(@) tewes fafy

“601/SKM_A |

7

(IMIEN I  Conta..



Read the following passage -and answer the given questions-:
{Q. No. 13-16)
ﬁqﬁ:f&avﬁ@?#v@vaﬂ?ﬁﬁﬁw#}%maﬁﬁq (@. ¥ 13—16)

As an Indian, I am proud o be a part of the culture which has
deep-rooted family values. We have tremendous loyalty to thé family.
Parents make enormous sacrifices for their children. They support
them until they can stand on their own feet. At the same time, children
consider it their duty to take care of aged parents. We believe in the
sayings Mother is Goddess' and Father is God'. Brothers and. sisters
are encouraged to make sacrifices for each other and the eldest brother
or sister is respected by the other siblings. Marriage 1s held to be
a sacred union. Husband and wife are expected to live together for
life. In joint families, the entire family works towards the welfare of
the family. There is so much love and affection in our family life.

wm%mﬁﬁwzi@%m%wéﬁwﬁaﬂmm
é%ﬂﬁﬂﬁwﬁaﬁw&mwﬁa%}wuﬁaﬁ%uﬁmﬁﬁwr@%%l
w—ﬁm_w%ma@wmﬁ%l%ﬁﬁﬁﬁwﬁ%%ﬁﬁ
aﬁmﬁﬁtaé‘raﬁlgﬂmmﬁﬁa{ﬁ@w—ﬁmﬁ%@mﬁw
mﬁwr{ﬁﬁ%rsﬁﬁaﬁﬁrﬁﬁﬁawwﬁ%%“n‘i‘%‘q"t%”?r“ﬁm
W%t”ﬁaﬁﬁaﬁm%mwﬁﬂﬁmw%a@w@

‘maﬁﬁaﬁﬂﬂﬁ%ﬂmwwﬁmw%lﬂﬁf@q&ﬁw

wm%mﬁruﬁ@rmwa&mﬁf%ﬁﬁaﬁmmm&ﬁ'm‘gmw
ﬁaﬁww%sw%maﬁaﬂﬁ'%tmqﬁaﬁm%ﬁaﬂﬁm
ot Jw § e e & |

-
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- Which is the main topic of discussion in this passage ?

(1) Firmly established family values

;.(2)' Vélués in general

. 3} Relationship of family members

(4) Institution of marriage
W WRDBe ¥ o W gew g wm oz 7
(D) &1 i@ g

14

@ et e S omd
@) FEE 3@

Who contribute to the welfare of the family ? Choose the most

.. appropriate response.

- (1) Husband and wife

© “(2)  Parents

"8 The whole family

(4) Brothers and sisters

.%%w%%@ﬁwﬁmﬁém%?wmmwﬁgﬁm

(D il

@) R
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- 15 Choosing the most appropriate answer indicate who make.

sacrifices in an Indian family.

(1) Sisters for brothers

(2) Eldest brother for other siblings

(3) Youngest brother for elder family members
(4) Reciprocally |

wﬁmmmﬁwﬂﬁ@@féﬁmﬁuwirﬁﬂm
HE ¥

(1) e WS & fg
@ T wE w wE W T B R
3) B W = wiEie ge % W

4 T

16 In Indian tradition marriage is called :
(1) Breakable contract
(2) Imprisonment for life
3) Necessarﬁ;r evil
(4) A holy bond
e v § Rrae @ ¥
(1) O T GHT AW ST
(2) SETR & BHAE
(B) W JEFEE I

@) T g T

=
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17 Communication is done :

18

(1) Orally

(2.) Through writing
3) Through gestures and facial expressions

(4) Through all the above means

(3) d&d ud Yy B gmed @
(4 <udw ol SuE Ew

Communication is necessary for :
(1) Self expression

(2) Trade and commerce

(3) untine Activities

(4) All the above purposes

T HEEH T
(D) ooyl ¥ fag

'(2) AR ud aifeg & fag

@ for wfofm & R ¥ fro
(4) SuF o Pt ¥ fag
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19 The number which does not fit in the given series is :
445, 221, 109, 46, 25
(1) 25 2) 46
(3) 109 {4) 221 |
T gEw ¥ 9% e S B 3@ e & gew W o¥, 9w ¥ -
445, 221, 109, 46, 25
1) 25 | @) 46

(3) 109 4 221

20 The missing term of a series 1s
0, 6, 20, 42, ?
1 72 @2 76
(3). 81 (4) 82
A W gam ¥ ga den ¥
0, 6, 20, 42, ?
1 72 @ 176
@ 81 @ 82
601/SKM_A ] 12 ~ {HMIENIMIE | Contd...
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21 If 'SYNDICATE' is coded as 'SYFENDCAY, then how can
'PSYCHOTIC' be written ?
(1) PSYICTCOH (2) PSYCOHTCI
(8) PSICYOCTH (4) PSICYCOTH
afs 'SYNDICATE' #! gesrer % 'SYTENDCAI' R i % ar SE
o ¥ 'PSYCHOTIC' % frar s —
(1) PSYICTCOH (2) PSYCOH.TCI
(3) PSICYOCTH (4) PSICYCOTH
22 Which of the letters will look the same in the mirror ?
(1) TERMINATE (2) FIXING
3) AOVIVOA (4) VHRTRVH |
Frer & @ ¥ o @ W @ g wRfee goe e 37
(1) TERMINATE (2) FIXING
(3) AOVIVOA (4) VHRTRVH
23 Select the related words from the given alternatives :
Architech : Building :: Sculptor : ?
(1) Museum (2) Statue
{3) Stone (4) Chisel
feg g et ¥ & wwfuw o= g -
TRGHR : T = w7
(1) woewm @) wfemn
(3) g @ of |
DIKIRRNN 1 Conta...
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24 If Energy is measured in Joule, then choose the correct pair from
the following :
(1) - Axe : Grind (2) Ammeter : Current
(3) Power : Ampere (4) Resistance : Ohm
oft el @l o@ ¥ " ¥, o Feafatea gel @ @@ g @ g
(1) PwRi : g @) erfex : Rga vae
@ fm : ¥PwR @) Ry : em
25 Find the number of triangles in the figure
(1) 18 @ 20
3 28 @ 24
N TS omply A Pl A wem R 7
1 18 @ 20
@ 28 @) 24 |
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26.. There are two statements, followed by

< TR T

two conclusions .(I):and

(ID. You have to consider the statements to be true. You.have

to decide which of the given conclusion. Ind.lcate your answer :

Statement : (i)

Some books are tables.

(i) Some tables are mirrors.

Conclusion : ) Some mirrors are books.

| (II) No book is.nij_rror.
(1) If only conclusion .(D fo]iows
(2) If only conclusion (II) follows

() If either conclusion () or (IT) follows R

(4) If neither conclusion D nor AD fo]_lows

A TR & A, A P () @ (@D v § | o weEt w
Wﬁﬁlﬂm% ammﬁﬁrﬁam%%ﬁqwﬁﬁﬁlﬁﬁ@
BT ey, maﬁf%mnwﬁwm% T S P wY

BT )

@Wﬁ@f%l
() v I dor ¥
et @M 35 =dw gEs ¥

D =i A g wdo T 3

(1) i Faw P @) From
() uﬁ%aﬁﬁmwf(mﬁm%

@ @@ Fread @ @ Pl () Prawar &
@ 7@ fra @ o T & Pred (1) P &

601 (SKM_A| .
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Directions : In question 27 and 28 answer are to be based on the

diagram given below.

ﬁ%‘sr:wvmﬂqﬂz&:ﬁ%é}ﬁs‘aﬂyﬁrwm%;

N

F\E
B

A

In it triangle represents doctors, circle represents players and rectangle

represents artists.

ﬁﬁmg‘mﬁﬁ,ﬁ%ﬁﬁﬁﬁﬁmmﬁﬁﬁﬁmm%l

27

Which alphabet represent doctor who are also player and artists ?

(1) B @2 C
3 D : 4 E
£ T SEx, W e Td SR § Y Sl ¥?
1 B @2 C
@ D 4) E
98 Which alphabet represent artists who are .also player only ?
(L D @ F
@ G | @ H
£ T GET, S faTEl F wE Yaw GO B PR s ¥
) D | @ F
@ G @ H |
601 /SKM_A 16 W § Conta.
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30

T

Select the related letters from the . given alternatives -
MOQS : ACEG : PRTV : ?

(1) EGIJ (2) FHIM

3) KMNP (4) DFHJ

fro Ty R F 4 wabew o @ o -

MOQS : ACEG :: PRTV : ?

(1) EGIJ (2) FHIM

3) KMNP (4) DFHJ

If PERMANENT' is coded as 'REPNAMTNE, then how can
DIRECTION' will be written ?

(1) RIDTECNOI (2) RIDTCENOI
(3) RIDTECION (4) RIDCTENOL

afc PERMANENT' % gewiwi ¥ 'REPNAMTNE' Rrar s & a
4 @@ ¥ 'DIRECTION' & Rrar s

(1) RIDTECNOI (2) RIDTCENOI

(3) RIDTECION (4) RIDCTENOI

31 The missing number of a series is :
4, 8, 12, 24, 36, 72, ?
(1) 90 @) 96
3) 102 4 108
A T e N ga e ¥ o
4, 8, 12, 24, 36, 72, ?
1) 90 @ 96
(3) 102 4 108
601/SKM_A| 17 [IEIRIOANY 1 Contd...
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832 The odd one is : \ S R T oo

(1) Rectangle ) Square
3) Cube | 4) Triangle
T ¥ o ¥

(1) o @ =

@ = | é_i) Bryw

33 Choose the pair in which the words are differently related :

P N

(1) Book : Page (2) Car : Wheel |
(3) Table : Drawer @ Loom Cloal

W?E.Wﬁgﬁqﬁﬁﬁmm@a:.. | |
O & - mqum -

(8) Ew @ W @ wH : ®US

34- The odd one is :

(1) Potato (2) Beetroot

() Radish @ Carrot

T ¥ e ¥ o

1) s &

® | @ |
601/SKM_A | 18 IR [ Contd. i
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35 With the help of Ogive curve we can find -
(1) Median (2) Deciles
3) Percenti.l_es : (4) All the above
SIfE =% ¥ W W WY wed ¥
(1) e @ Tmw
3) am @ SwiE H‘*’l’f
36 The data used in experimental research should be collected by
following method/s by :
(1) Conducting experiments
(2) Directly asking questions
(3) Sending printed questionnaire
(4) Al the abm?e
TR ST % B A R i @ o e b R
P faf / Rt &1 sw @ ¥
(1) e st
2) W w1 qwa
@ e
@) Sww e
601/SKM A 19 (TN { Contd..
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37 Graph of variables having linear relationship will be -
(1) Circle (2} Hyperbola

(3) Straight line (4) None of the ahove
aﬁ,ﬁmﬂaaﬁér%@am@ra’rmmﬁm-—-
(D ¥ @) o

3) ww T (1) S & & wd N a

38 Scatter diagram is
(1) Mathematical method of finding out correlation
(2) Positional method of finding out correlatiqn
(3) Graphical method of finding out cor;elation

(4 None of the above.
Fraaa R ¥

1) wegery Fraem & oiidg Ry
2) weay P @ Redrr Ry
@) wewEy ey & wie fafy

@) W ¥ ¥ FE

601/SKM_A| 20 NN [ Conea...
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39 The following table gives the population and number of deaths
in two cities :

City X) City (Y)
Population : 60,000 55,000
Number of deaths : 1,200 1,15b
In which city the mortality is more ?
1) X
2) Y
(3) Both equal

(4) Nothing can be said

et gl & 2 R @ ween v gy denm & O

BT (X) st (V)
SEET 60,000 55,000

Iy T 1,200 1,150
o QTET. % g aX Aum ¥ ?

M X

@ Y

(3) =Mt & FET ¥

(4) 39 ST FB T HE AT GhA ©

601/SKM_A | 21 TR { Contd...
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40  If two qualitative variables have no cause effect relationship, then

41

their association is known as -
(1) Positive association
(2) Negative association
(3) Illusory association

(4) None of the above

oA AW A F, B D B W B B DR e

T A A, e A wwed wewr o

(1) e =y
(2) FoTEE TEE
@ v T
@) SWE ¥ ¥ o T

ICT means :

(1) International Communication Technique

(2) Indian Commission for Technology |

8) Information and Communication Technology

(4) Interactive Communication Technique
aE. W A ¥ areet & -

(D) il oo geds

(2) WEE JEEE STER

@ YN W dma Jede

(4) AW THEAH B SEH WEE

601/SKM_A | 2 WIERATAY { Conea...



42 Following are the parts of a computer, except

@) wR @) ez

43

| 3) .docx 4 txt

601

1

/

s
“k

LR T

() CPU | ® Key board
3) Scanner (4) Monitor
frafefes o® ®e & Wi ¥, ReEm

1 ® g @ @ 9K

The file exte._nsion of MS - Word document in Office 2007 is :

(1) .pdf (2) .doc

TH TH 95 3Aith 2007 1 BEE TSy B %
1) s @ =M=

s

(3 s @ Fuwmd

Total number of Satellites launched by India till April 2014.
1) 51 _ 2 74
@ 61 @ 70

R 5 B T oW 2014 9% OUNEl @ e

1 51 @ 74
3 61 (4) 70
SKM AL - . 23 IINIARAEAT © Contd...
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45 Function of Internet’is ;"% "+
(1) Only receiving data
(2) Only sending data
(3) Sending and receiving data, both
(4) None of the above
e W Gt ¥ o:
m f%rtis B T FHW
@) RE awS s
(3) wims AW W W BN

(4) STe ¥ ¥ wig T8

46 Application of ICT is :
(1) e-literacy '@ e-conferencing
(3) e-governance (4) all the above' — .°*

1S A A B 1 -

1) - @) F-u=ed
3 I-Taw | (4) SuTrR gl
601/SKM A ] o4 IIBIRINT -1 Coned:
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47 India exploded its first underground. nuclear device at -

48

GOLISKMAL: 25 IR ¢ Cone..

(1) Khemkaran () Pokhran

(3) Rawatbhata (4) Tarapore

SR e wem e gfeey gRe W R e -

(1) wEwr H @) qwwr A

| B vEawEr § 4) g o

The main constituents of Liquified Petroleum Gas PR are -

- (1) Butane and Methane

(2) Butane and Propane |
(3) Propane and Ethane

(4) Propane and Hydrogen

wi W A (o @ W) % qer wew ¥ -
1) =9 9 A+

@ spa T Eﬁﬁ?

@ W T i

4) WNT 9 TR
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49 In which year Bhopal gas tragedy occurred ?°
(1) 1981 (2) 1982
(3) 1983 (4) 1984
o g wad Rew oaw # g o4 7
(1) 1981 # 2 1982_£f

@) 1983 ¥ | 4) 1984 ¥

50 Disease caused by Mercury waste is -
(1) Cholera @ Jaundice
3) ' Minnamata ' (4) Measles
T & Sufite & H s’ﬁ qE dA E -
(1 T | @) i
3 ﬁq'—'ﬂqﬁf _ @ o=
51 Sound Ibecomes hazardous noise pollution at about -
(1) 10 decibels (2) 30 decibels
3) 50 decibels (4) 80 decibels -
@ uaw T Y & SR ¥, T —
(1) 10 & W 2) 30 S8 W
@) 50 ¥Ew W @ 80 Www W
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52 Which of the following method is the safest to dispose off
e-waste ?

(1) Recycling

(2) Burying in landfills

(3) Incineration

(4) Discharging in water
ﬁw%mﬁag_mﬁmasﬁmagmmmwv
W g

2) 9 W " w& TS AT

@) i

@) v ¥ & W

33 According to UGC Act, 2009, the number of new central

universities opened in India are -
(1) 06 _ @ 12
3 18 4 24

g o & T, 2009 ¥ EER W ¥ 9w v Y by Reafrawdi
H TEm ¥ — |

(1) 06 @) 12
3 18 4 24 |
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54 International Centre for Genetic Engineering and Biotechnology

(1) Bangalore (2) Indore
(3) Mumbai (9 New Delhi
AR sitfesn shPraftT o Sa-dreifre weam Reg & -
(1) &R ¥ 2 =R A
@) g=F o ' @) =5 el &
55 The first Open University was opened in
(1) Andhra Pradesh (2) Karnataka
(3) Tamil Nadu | (4) Uttar Pradesh
99 ge () el enie e m e
(1) o wa ¥ @) wew ¥
(3) dfirrmg & (4 v s ¥
56 Regional Institute of Education (RIE) is located in
Rajasthan at :
(1) Jaipur (2) Jodhpur
(3) Bikaner - (4) Ajmer
T § &l fen e (e aE. 3) feg ¥ -
(1) g § @ W A
@ dwre 3 @ o
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57 Shrimati Nathibai Damoder Thackersey - the first women's
university of India, was established at -

(1) Banaras
(2) Bangalore
3) Mumbai (Bombay)

(4) Poona

mmmmm—mmmmmmw
R T - -

(1) == ™ ®
(2) «TT A
@) =i (Tag) ¥

@ oA

58 In India, first tribal university was established in -
(1) Madhya Pradesh (2) Uttar Pradesh
(3) Bihar | (4) Tamil Nadu

aRg § wgn SAeT yafiaes wnfe e o -

| (1) Hex wast ¥ (2) waT west U
@ fwr A 4 wheg ¥
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Teacher: educatiqn courses _jare recognized by -

(1) University Grants Comﬁission

(2) Indian Council of Social Science Research

(3) National Council .of Education Research and Training

(4) National Couﬁcﬂ of Teacher Education
ﬁmaiﬁwm@asﬁ‘fﬁ'qwm.mﬁaﬁ%—
) ﬁﬁﬂﬁl’ﬂlﬁﬁlﬁlﬂﬁﬁ R 7

@) W "wiew fee emgus sew g
(3) I@aﬁTmmﬁw@uﬁrwmuﬁm

@ T srms Ben deE  w

Technical courses are generally managed by -
(1) I.CM.R. @) AIC.TE.

3) D.S.T. @ UGC.
THen TEEHT ARl Taive o ¥ -
(1) mEWM AR T 2) uwamdLad. Eul

@ Awd ™ @ g Fw
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